


A&

1

€ w = ee(wg(-zé)+cfs«m@é)) [—L]

- et ces @8 s @E
T w/*‘ [ ))

)((e/: c, e
/<(o)=[;] —

L)L

t /" cos () ¢ [ St
At (2£) tae [-casg,e

Lot o ¢ =0 ¢y = -
@)
(&) - - [M
)(/ 7e w:@]
< 5.4./5
%Z;: ?79-53(2’
= #%+ 3=,

)(:AX \’V%M_e_ 74.:/1 '5
% B

/A-Jr/= A®— /o A + 41



_ se{ 5 cos by 5@@9
mé&),«.l/%[') g Lfc;a((Z,‘-b)f-
TLL M Aol M, s

KL - éf? ECos@Ll:) |
/ / pr;G/L—),Lél%@(:)

+ ¢ €5‘~ 5 selli)
—fle,ag@é)-f»{{/‘w@&)




done A [“:' _é:‘J

N ote Adat %(5‘1 ¢ 79 o

V, = 25 (Z=2 |
/M~ 5
71—/%.0(/ A,:‘ V/ = 5/.° 53-/"/
R, = L - L2 . 2
L Ve 25 5
-/ 2
A= L
5 /g9 _2
i WO
"‘/‘4%









